
���������������� 
��������	
��

����������	
��

����������	
��

����������	
��

�� 

�  �  � � � � � � �  � � 	 
  �    � 
   � 

� � � � � � �� � �  
�
 � � � � �� � �  

��  

� 
� � �  ! 95.4.30 13:30-15:10 "#$ 

 
�����(� � 3 �� 	 30 �) 
1. Which of the following does not need to be known in order to compute the p-value? 

(1) knowledge of whether the test is one-tailed or two-tailed 
(2) the value of the test statistic   
(3) the level of significance 
(4) all of the above are needed    
(5) none of the above answers is correct. 

 
2. Using an%= 0.04 a confidence interval for a population proportion is determined to be 0.65 to 

0.75. If the level of significance is decreased, the interval for the population proportion: 
(1) becomes wider   
(2) becomes narrower   
(3) does not change   
(4) not enough information is provided to answer this question   
(5) none of the above answers is correct 

 
3. As the sample size increases, the  
  (1) standard deviation of the population decreases 

(2) standard error of the mean decreases    
(3) population mean increases 
(4) standard error of the mean increases   
(5) none of the above answers is correct 

 
4. The coefficient of correlation 

(1) is the same as the coefficient of determination 
(2) can be larger than 1   
(3) can not be larger than 1  
(4) can not be negative   
(5) none of the above answers is correct 

 
5. For a two-sample t-test, the pooled estimator of variance is appropriate whenever the two 

populations 
  (1) are normally distributed   

(2) have equal variances   
  (3) meet both requirements stated in (1) and (2) 
  (4) none of the above answers is correct 
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6. If the mean of a normal distribution is negative, 
  (1) the standard deviation must also be negative   
  (2) the variance must also be negative 
  (3) a mistake has been made in the computations, because the mean of a normal distribution can 

not be negative. 
  (4) the standard deviation must be zero   
  (5) none of the above answers is correct 
 
7. Which of the following is not a measure of dispersion? 
  (1) the range   

(2) the 50th percentile   
(3) the standard deviation 

  (4) the interquartile range   
(5) the variance  

 
8. In an analysis of variance, the between-treatments estimate of&2 is based upon the differences 

between the treatment means and the 
  (1) overall sample mean   

(2) each observation   
(3) sum of observations  

  (4) none of the above answers is correct.   
 
9. For a one-tailed hypothesis test (upper tailed) the p-value is computed to be 0.034. If the test is 

conducted at 95% confidence, the null hypothesis  
  (1) could be rejected or not rejected depending on the sample size 
  (2) could be rejected or not rejected depending on the mean value of the sample   

(3) is not rejected   
(4) is rejected   
(5) none of the above answers is correct 

 
10. An important application of the chi-square distribution is  
  (1) when making inferences about a single population variance 
  (2) when testing for goodness of fit 
  (3) when testing for the independence of two variances 
  (4) all of the above answers are correct 
  (5) none of the above answers are correct 
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1. ' ( ) * + , - . / 0 1 2 3 4 5 6 7 8 9 : ; � < = >"? @ 100 A B C >D E F GH
I 50 A B C J A . / �K B . / �LM N ( O P Q >R S T * + B C 3 4 U V W X Y 5
6 >�Z [ \ ] ^ _ ` 

 B C 3 4   
. / 0 1  5 6  a 5 6  b K 
A . /  20 30 50 
B . /  10 40 50 
b K 30 70 100 

c d ^ e f g ` 

(1) h+  B C i B . / 0 1 j k . / >3 4 l Z 5 6 9 F m L(5G) 

(2) �  n ] o * + ApB q r , - . / 0 1 s / t U V W u v w h f x y z { (null 
hypothesis)K2 | z { (alternative hypothesis)] o } ~ w (5G)  
� ~ Y � � � � 0.01>h� ^ � ~ N 7 K� � L(10G) 

(3) � g (2)`� � g (2) � �� � 9 � � � >U V W � � 9 � ~ 0 � � � � � - � 9 w ( � d
� � >, �  � N 7 )L(10G) 

 
2. � � � !� } S � W �   ¡ ¢ £̀ �
 � � ¤ ¥ 9 ¦ § ��¨ � � © ª ¤ ¥ 9 ¦ § ��

�����L� �« U ¬ ­ S ® � � ¯ j k ° ± LS ® � � ¯ ² �? ³ [ \ ´ � ] ^ ` 

 µ¶  · ¸ ¦ § �� ¹ º » v ¶   
�
 � � ¤ ¥  20µ 9.5G 1.0  
� � © ª ¤ ¥  20µ 8.0G 0.8  

z } �
 � � ¤ ¥ K� � © ª ¤ ¥ 9 · ¸ ¦ § ��G�� 1µ K 2µ >q ¼ ½ » v ¶ � ¦
( 2 2

1 2σ σ= )>¾ ¤ ¥ ¦ § ���¿ À GÁ Lhc d ` 

(1) Â g Ã } ~ x y z { K2 | z { L(5G) 

(2) � ~ Y � � � � 0.05>h� � � ~ N 7 K� � L(10G) 
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3. = Ä Å � Æ Ç È ° ± � É Ê Ë Ì GÁ U V K� � Í Î Ï C 9 É Ê W u v LÐ Ñ Ò R Ó ( Ô
Õ = Ö Õ × Ø Ù Ú Û pÜ Ý pÞ ß Kà á � "â ã Í Î 9 É ä Ë Ì LM Õ × â å Í Î Ï C

I 4æÉ ä (" 16æ)9 Ë Ì Q >Z � b · 0 K(SST)� 1230>ç u · 0 K(SSE)� 480Lh
c d ` 

(1) � ^ x y z { K2 | z { L(5G) 

(2) è é D ê ë » v ¶ Gì _ « d í î n L(12G) 

» v ¶ Gì _  
» v ï Ê  · 0 K á R 8  ¸ 0  �  ð  
��     
ç u  480    
b K 1230    

(3) � ~ Y � � � � 0.05>ñ ò » v ¶ Gì _ >h� ~ , - Í Î Ï C s É ä Ë Ì GÁ U V W
Y � u v L(8G) 
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